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"Auditing is a systematic-
examination of the books and
records of a business and other
organisations, in order to as certain
of veryfy and to report upon the
facts- regarding its financial
operation and the result there of."
This definition is given by:

(A) Montgomery

(B) J.R. Batliboi

(C) L.R. Dicksee

(D) F.R.M Depaula

'Double Entry System' was
invented in:

(A) 1490

(B) 1494

(C) 1894

(D) 1994

Double Entry System . was

propounded by:

(A) Spicer and Peglar

(B) A.W. Hanson '

(C) Lucas Pacioli

(D) R.G.Williams

When the audit of Company Ac-
counts was made compulsory in
England?

(A) 1821

(B) 1840

(C) 1844

(D) 1850

When the first Chartered Accoun-
tant Act, was passed in the world?
(A) 1880

(B) 1890

(C) 1900

(D) 1932

US-15192/p

AT QAP a1 el B aafeE S
2, R 3ipeTs TR & 2T waer)
& Geayd I b a1 3P gRomEf &
Tre=e] W 379 et & b1 @ aRemer
foares g & Y &

(A) WiEMHRY

4B) 3R FEeAET

(€) vat. 3R feast

(D) U%.3R.TH.81-01e

(A) 1490 7

. (B) 1484 #

(cy 1894

:,'-,.'(D) 1994 #
L (A) ERR UF IR
" (B) uES &R

(£) wEr T
(D) 3R, e

retvg o HwEl @il P SibEU e

e S wn?
(A) 1821
(B) 1840

{51844

(D) 1850

f%g & TR URET T THIURUE IR
o9 Ui fosar e

(A) 1880

{B) 1890

(C) 1900

(D) 1932
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6. When the audit of company Ac- &
counts was made compulsory in
India?
(A) 1894
(B) 1914
(C) 1948
(D) 1952
7.  Which of the following Govern- .
ments in India followed the educa-
. tion of Accountancy first:
(A) Govt. of Delhi
(B) Govt. of Calcutta
(C) Govt. of Bombay
(D) Govt. of Madrass
8. When the Chartered Accountant 8
Act of India was made:
(A) 1913
(B) 1935
(C) 1947
(D) 1949
9. For a Private co,, auditing is: 9.
(A) Necessity
(B) Symbol of Prestige
(C) Luxury
(D) None of these
0. Forevery business Accountancyis: . 47
(A) Luxury
(B) Necessity
(C) Symbol of Prestige
(D) None of the above
5-15192/P 4

R & TV Wl DT BT B Hreard
foar mar?

(A) 1894

(B) 1914

(C) 1948

(D) 1952 |

R § orare o 16T ST FRIR0T TR
fra axar 3

(A) Reeeh w@R

(B) FoIHdl TSR

£C) T WK

(D) WEE WHR
WRA ¥ TS UHIIUETT vaT Ba
. .

(A) 1913

(B) 1935

(C) 1947

LD) 1949

ve 1ot At & fore 3idberor &:
(A) 3NaTgad

(B) wftrsHES

(C) fenfaa

(D) ¥4 9 BF Tl

mwéﬁvmﬁmé

(A) faenfaar

4B) ATTaADAT

(C) whTomer®
(D) IRIT H q IS 7
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11. Head office of the Institute of Char- A, YR Ot eaERey R & W
tered Accountants of Indian (ICAI) Foea e & ‘
i :
Py w
(B) P
(B) Kolkata
(C) Delhi £€) faeet
(D) Chennai (D) =%
12. From the following which is the - 12, Frafafad & d sides & o9 @1 o
function of an auditor: 2.
(A) To examine the arithmetical
accuracy of accounts (A) & B ORI Tgar B I HAT
(B) ':zr:etect and prevent the er (B) S —
(C) To detect and prevent the (C) BA-BIC &1 Tal AT g AHT
frauds
(D) All the above D) IR T
13. Auditing begins where: A3, ISE0T IR Bl 8, FEn:
(A) Accountancy ends AA) rasd auna B &
(B) Book-Keeping ends (B) U W gl &
(C) Investigation ends (C) FITHUH FAI Bren 8
(D) None of these (D) T ¥ P T
14. Prevention of frauds, is the object _14. BA-3YC A1, JPEU B B &
of auditing: . | | (A) =
(A) Main 4B) TE®
(B) Secondary
(C) General (C) W=
(D) None of these (D) ¥ & P8
15. Generally auditing is not necessary 18, qHFIAAT U6 B Uhal AR § 3ihar
for a small sole trading business D! HEIADAT Fel ) &, TS
because: (A) T e W1 ¥ vy @ 3
(A) Legally it is not necessary (B) 3ud1 &7 g &
(B) Its'scope is limited £€) 3-,3% T B TR Tﬁ By
(C) Its propritors has full control Bar
(D) All the above (D) IR TR
US-15192/P 51
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17.

18.
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The technical knowledge of audit-
INg 1s:

(A) Born

(B) Onainal

(C) Acquired

(D) None of these

High moral character of an auditor
IS:

(A) Bormn Qualities

(B) Acquired Knowledge

(C) General Qualities

(D) None of these

The Institute of Chartered Accoun-
tants of India (ICAI) s a:

(A) A body ot corporate

(B) Autonomous body

16.

17.

~18.

Siaor 3 aEE T AT &

WO ApnIsnsod - mmam//:sdny

(C) Private body (C) Pt s
(D) None of these (D) = J o T8
19. An auditor shouid not be: _19. 0% 3Pus B T8 2 gk
(A) Tactful (A) TR
(B) Honest (B) TR
(C) Suspicious 1) W
(D) Patient (D) Fefara
20. Who can be an auditor in a com- .20, % T A sivers @ 2 T &
any:
FA) Commerce Graduate (R) aMorsa i
(B) Law Graduate (8) faftr =
(C) M.B.A. (C) mr.dte.
(D) None of the above 0y A aﬂgqﬁ
Us-15192/P 6]
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21. Amount realised from the sale of
old Furniture is a:
(A) Capital receipt
(B) Capital Profit
(C) Revenue Profit
(D) None of the above
22. Purchase of office Furniture for Rs.
10,000 but debited to Purchase Ac-
count is:
(A) Clerical Error
(B) Error of Principle
(C) Compensating Error
(D) None of these

[\
W

. Domestic use of official telephone
L H
(A) Embezzlement of Property
(B) Embezzlement of Labour
(C) Embezzlement of Facility

(D) None of these

N
Y

. First Auditor of a company is ap-
pointed by:
(A) Promoter
(B) Company Law Board
(C) Board of Directors
(D) Shareholders
25. 'Comptroller and Auditor General'
is appointed by:
(A) President
(B) Prime Minister
(C) Governor

(D) Chief Minister
US-15192/P

21. gvﬁuﬁfmaﬁfﬁaﬁﬂmrﬁ’s‘.w:
(A) e it
(B) ora @TH

(C) Tl &
(D) TUeh & A DS TR

22. 10,000 T $I FRATHY FATGR B [

T, )= 599 39 @ ;e fea
. a8 &

(a) i sefs

(B) A~ s

(C) sioRs el

(D) ¥4 A IR &

23. FRcd TABH & Wl 7am &

(A) Twia & ma

(B) %® & &S

(C) Jfaem @1 e
(D) T ¥ B A
24. TP B W R JHbad B g
e &
(A) TadS gRI
(B) FFAT HUEROT ERT
(C) HUE® HUSH GRI
(D) 3ureniRal gry

_25. THGIR w08 3R SR B s

B I R

(A) TR R
(B) WUMAAAT R
(C) TS R

(D) H&=A gRI

P.T.0.
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27.

28.

29.

30.
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Domestic use of office Furniture is: _26. s W &1 oy &

(A) Embezziement of goods (A) A WEH

(B) Embezziement of Property (B) wwf &1 T

(C) Embezzlement of Labour (C) %M &1 &

(D) None of these (D) s A PE TR
Statutory audit is: 27. denfeie 3ipeoT A1 &

(A) Optional (A) dstas

(B) Voluntary {B) s

(C) Compulsory (C) fmEe

(D) None of these (D) T & PE &

Audit of Trust is: 28, s @ s R &

(A) Compulsory ) S

(B) Voluntary (8) es

(C) Optional (C) dfeus

(D) None of these (D) TH ¥ DS & _
Audit of Co-operative Institutions 29, TEHRY FRIBI &1 37bemr 2y & :
is: . (A) the®

(A) Voluntary

(B) Compuisory AB) et

(C) Optional (C) dfeum

(D) None of these (D) T A P &
Personal Audit is: .

(A) Compulsory ? mm R

(B) Optional
(C) Voluntary (B) dafta
(D) None of these (©) ¥sw

(D) M & o =&

Us-15192/P 8]
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w
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34,

35.

https://www.ccsustudy.com

When an auditor audits the records

of any organisation throughout the
year, that is called by:

(A)
(8)
()
(D)
The
by:
(A)
(8)
(€)
(D)

Annual audit
Interim audit
Periodical audit
Continuous audit

Internal Auditor is appointed

Manager
Government
Sharehqlders

Company Registrar

. Which type of audit is move suit-

able where, there is no satisfactory
system of internal check:
(A) Periodical Audit

(B) Continuous Audit

(C) Interim Audit

(D) Management Audit
Test checking is done due to:
(A) Find out the errors

(B) Detect the frauds

(C) Save the time

(D) None of these

Audit is compulsory for:

(A) Joint stock companies
(B) Charitable Trusts

(C) Co-operative societies
(D) All the above

US-15192/P

https://www.ccsustudy.com

1

31.

33.

78 0P Jide, A T B A
! & sa @ af e &, A W
FHEOT B BEQ &

(A) afdes 3rdperor

(B) IRy e

(C) s et

(D) dme e

. FaRe Feas S Fgfe o s &

£A) TEUS TRT
(B) TI{BN g1
(C) Ferenial Ry

(D) T MR gw

T R RS PRI a1 TS
T R, T8 R fow e &1 315en Iuges
B 2:

(A) TMAS 3Semor

(B) aIg 3Hpaor

(C) 3rafm pem

(D) w&T 3B

. e Sitg & wan fEar s @

(A) 3fedt & g o 3 fre
(B) BA-IIT P B & C
C) 9T & 99d IR & oo
(D) W X I TR

(A) g U T S e
(B) Y ¢ & fore

(C) wear Wity ¥ R
AD) Iad weh
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46. The special audit of company is get

47.

48.

49,

50.

https://www.ccsustudy.com

done by whom:
(A) Shareholders
(B) Board of Directors
(C) Central Government
(D) State Government
Audit Programme should be :
(A) Flexible
(B) Clear
(C) Wider
(D) All the above
From the following which is based
on the principle of division of
Labour?
(A) Intemal Checking
(B) Internal Audit
(C) Internal Control
(D) None of these
An Internal Auditor is a:
(A) Temporary employee
(B) Permanent employee
(C) Empioyee on contract
(D) Casual employee
Which type of employee is ap-
pointed as Internal Auditor?
(A) Who is related to books of
account
(B) Who is not related to books
of account _
(C) Who is not related to books
of account but versed in ac-
counting and honest

(D) None of these

JS-15192/P

[12]

46. T 1 s 3T 5 GRT B

en &

(A) 3eTEnREl GRT
(B) Hamwi® #osAl &I
(£) T WHR gRT
(D) ST WBR g

47, 3ipeT SiEd S afed:

(A) @raeR
(B) W

(c) fawga
£D) IRRE TN

_48. frfeiaa § a1, Wﬁﬂﬂaﬂ%ﬁﬁmﬁ

WRImERa 8?2

(A) 3R FYemon
(B) 3m=aRa Sidsefor
AC) 3maRa Fra=mn
(D) ¥ & @K &

49. U8 A=IRD 3beH B &

(A) 3R ARt
(C) 3@ HHTRY
(D) IS BHARY

50. 3R 3HED & T 3 Y i) B

feraes foan s @
() N era geest ¥ wwafera g
(8) ﬁmaﬁa‘rﬁmﬁaﬁam

ﬁ ﬁﬁmmﬁﬂw:{ag}m
Wmﬁﬁwmmﬂ

(D) sq#%ra\gqgsf
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41.

42.

43.

44,

45.

US-15192/P
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Under the 'Test Checking':
(A) All books of accounts are ex-
amined

(B) Specific books of accounts are
examined

Both the above (A) and (B)

None of these

()

(D)

By Routing checking, the business

expenses are:

(A) Increase

(B) Decrease

(C) Unaffected

(D) None of these

'Audit Note Book' contains:

(A) Various dates of reference

(B) Details of work done

(C) Notes regarding item requiring
classification and explaination
etc. hittps://www.ccsustudy.com

(D) All the above

The existence of good system of

internal check reduces to a great

extent:

(A) The work of the Auditor

(B) The liability of the Auditor

(C) Neither work nor liability of the
Auditor

(D) Above (A) and (B) both

Verification and valuation both are:

(A) The same things !

(B) Separate things

(C) Complementary of each other

(D) None of these

11}

41.

42.

43.

.

3

‘Teor s B HAd:
(A) @ A qEt B St B I &

(@,am-wmﬁmgﬁfﬁia%}afaa%

Sy 2
(C) IRNeh (A) Tar (B) @t
(D) i} o T
s s A wEafas ad:
(A) @ga?
(B) @A &
(C) menfad & &
(D) & F B T
Fpemor ol qras ¥ foran mar 2
(A) e & faftr fidra
(B) o i o & favga faamor
(C) LIS @I =R e |
wafera fewforai
TP 38 FIRS i JOTel | B &4
a® H & Il &
k) 3ipETd 1
(B) 3ipeid &1 Afded
(C) 37peid &1 7 a1 & A & QA
(D) IWIH (A) @ (B) aFi
TeaTg AT i A €
(A) R
(B) 3FEHI-37cTT
) T TR & [P
(D) W A P &

P.T.O.
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_26. ey sidsaior JwnR &

36. The continuous audit is useful for:
(A) Big concerns
(B) Medium size concerns
(C) Small concerns
(D) General concerns
37. Periodical Audit is an audit is which:
(A) Balance sheet of number of
years is audited
(B) Audit is done at the end of the
financial year
(C) Audit .is done in the mind of
the financial year
(D) Verification of assests and fi-
abilities is done
38. The scope of interim audit falls
within the purview of:
(A) Internal check
(B) Internal audit
(C) Annual audit
(D) Practical audit
. Audit working papers are the prop-
erty of:

(A) Owner of the business

W
V]

(B) Directors
(C) Managers
(D) Auditor
40. Routine checking is done by:
(A) Employees of the Firm
(B) Auditors
(C) Management
(D) None of these

Us-15192/P

[10]

37.

38.

(a) & s & fow

(B) mwmﬁwai%t‘
(C) R =awE ¥ fw

(D) W-W‘FB%E

TR SipeIoT B DT JiaeToT ], ford:
(A) & a8t & anfe fag @ sidsemr

e s &
(B) ﬁ?ﬁaaﬁésﬁﬁaﬁiw%m

ST &
(C) f&?ﬁuaéésnwﬁmaaamﬁm

ST &

(D) mﬁa’reaaﬁa‘faﬂﬂwm%m

SETE
IR 3peT T PRI, e o far &:

(A) 3r=aRe Ftemor
(B) 3=IR® 3idpefor
(C) aif¥® sicseror
(D) HGEIRS 3iHeror

(A) TTET & @ @

(B) HOe®! B!

(C) ya=rs @t

D) 3iBes o

40. s FT B I
,uﬁmasaﬁmﬁzﬁm

{B) 3id&m®! & &xT
(C) ¥&%1-a=3 gry
(D) ¥ ¥ B 7

~ https://www.ccsustudy.com
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51.

52.

53.

54,

55,
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The process of distribution of work

among employees according to

their ability is known as:

(A) Internal check

(B) Internal audit

(C) Internal control

(D) None of these

Under the intensive checking come:

(A) All books of accounts are ex-
amined

(B) Specific books of accounts are

examined

(C) Cash Book examined

(D)

From the following which is not

None of these

floating assets:

(A) Prepaid éxpenses

(B) Bills Receivables (B/R)
(C) Goodwill

(D) Stock

Which of the following is fictitious
asset: |
(A) Land & Building

(B) Goodwill

(C) Copyright

(D) Preliminary expenses
Scrape value is related with:
(A) Plant and machinery
(B) Land and building

(C) Goodwill

(D) Stock

US-15192/p

51.

52.

53.

54.

55.

FHoRal 4 37 dgar $ AUR W
Frd ¥ Ryazor & sfsar & s Fan &
(&) I=R® e

(B) IT=lRa 3Heron

(C) r=aRa Fa=ao

(D) 379 3 2% &

TRH S & Fd I 2:

(A) T o I B AT

(@7 fafire A qxa@t B favga s
(C) B3 TF B I

(D) 3 J B 7
Frfafaa &, 319 s=md axfv 7@ &
(A) Taet 24

(B) wrg-fauz

ey

(D) eferan
frafefaa & & 3 sady wafv &:
(A) 41 vd wa=

(B) wfd

(C) pla v

(D) RRNS =
yafine geo Tt &

(py- @UE 05 HERY

(B) 4 3R waA

(C) =fa.

(D) efemm

https://www.ccsustudy.com
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56.

57.

58.

58.

60.
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Average profit method iz concerned

with valuation of:

(A) Stock

(B) Goodwill

(C) Share

(D) None of these

Which assests 1= valued at cost

pnce or market prce which ever is

less:

(A) Machine

(B) Goodwiil

(C) Stock

(O) None of these

Intrinsic value method of valuation

is concerned with:

(A) Stock

(B) Fixed Assests

(C) Goodwill

(D) Shares

'Highest in Pnce First Out' (HPFO)

method of valuation is used, when:

(A) The price of material is in-
creasing

(B) The pnce of material is de-
creasing

(C) The price of matenal is con-
stant

(D) The price of material is fluctu-
ating

Which of the following is intangible

assets.:

(A) Preliminary expenses

(B) Patents

(C) Prepaid expenses

(D) None of these

-Us-15192/P

56, e faftr faw T:_{I'?Tim:? Ay,

2
(A) <efaan

(B) ©
(C) 3

B F A PR T
57. Ry wafa @, ard A1 &R Yo -
A A ER R W, e b s
(A) =
(B) ey
(@ el
(D) & ¥ B T
58. YA B FRS Gea fafr wwafee
fA) @foar &
(B) RIRN wWidl ¥
(C) wmfar &
4B 39 |
_59. T e v T fofer &t wam

far srar 2, 5

AA) I &1 e | <@ |
(B) Wil & Hew vz <@ &)
(C) wrh &1 o e &Y

(©) W 71 s e
so.ﬁq&ﬁﬁm%mﬁg:
(A) TRRw® sy
By v
(C) ydew =g
(B ¥ ¥ o oy

[14)
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61. Areserve which is not apparent on 61 e wga e i e fag &

the face of the balance sheet is Gl e -
(A) General reserve (A) HrET=0 Fed
(B) Revenue reserve (B) Hrand &ada
(C) Capital reserve (C) Y=it waa
(D) Secret reserve D) T FOq
62. In verification of liabilities, an audi- 6%z B gy 3] 9d, U beih
tor see that: iz 2o 3 65
(A) All liabilities are shown clearly )
in the balance sheet (A) it e e g @ fag 4 feam
(B) All liabilities are related with w #
business (B) T aiie Ten ¥ aatad &
(C) All liabilities are correct and r - o
authorised C) it =it WY o S @
(D) All the above D) IS =)
63. Dividend can not distributed out of: 63. ETRI B WA T 6T 51 Tha B
(A) Capital receipts 4y g et @
(B) Capital Profit (B) W T
(C) Revenue Profit (C) Zama @5 2
(D) None of these (D) 378 J 312 T
64. Which of the following statement 64. THIGA & 3 B9 T B I -
is correct:
(A) Valuation is not a part of veri- (A) HeQIe=. Fedmu= &1 9 T8 2
fication
(B) Valuation is the base of verifi- e
cation ’LB} - T 1 ST &

(C) Verification is a part of Valua-
tion

(D) Verification and valuation are _ ‘
the same thing (D) TN 0d Jaic a1 U & &

65. As per companies Act 2013, 'Table £5. T sftfram 2013 & 3ER, @R

(C) TANH, FeaidA &I 05 I @

F* is the substitute of: w faew

(A) Minute Book (A) WW

(B) Prospectus (B) gfaaRoT

(C) Article of Association 4C) e It

(D) Memorandum of Association (D) aréE A0 fe_m-q
US-15192/p [15]

P.Y.0
https://www.ccsustudy.com

WO ApnIsnsod - mmam//:sdny



WO ApnIsnsod mmam//:sdny

https://www.ccsustudy.com

66. Which of the following is called the
charter of the company:
(A) Memorandum ot Association
(B) Article of Association
(C) Prospectus
(D) Minute Book
67. For alteration in memorandum of
Association whose approval is nec-
essary:
(A) Central Government
(6)
(C)
(D)
68. Sec.
associates with:
(A) Memorandum of Association

Court

State Government

Company Law Board

26 of companies Act, 2013 is

(B) Article of Association
(C) Prospectus
(D) Minute Book

By whom the special audit of a

O
O

company is get done:

(A) Shareholders

(B) Debentureholders

(C) Board of Directors

(D) Central Government
70. The object of investigation is:

(A) Specific

(B) General

(C) Above (A) and (B) both

(D) None of these

uUs-15192/P

o6, it 8 W oY R
e &
(A) mﬁa%ﬁmﬁ'ﬂ“
(B) urde iR
(C) whera=oT
(D) PR D
67, urde St # Ra & forw o

gy 3aTas
(A) TG TWOR
(y =
(C) T3 WIR
(D) T s aiftresvor
68. TR MR, 2013 DI €RT 26 I
&
(A) e difas
(B) umE 3rafiad
(&F wfgaRor
(D) PR g
69. T F1 fFRI 3iperor fohads gRT T
JTT &
(A) 3oenfal gr
(B) FommmenRal gr
(C) Hure® qUse gRY
& 8T woR TR
70. 3FRUM & Jhea d &
() Rifdre
(B) g
(C) RIS (A) o (B) @i

(D) §¥1 3 &% 55
[16]
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71.

72.

73.

74.

75.
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Investigation begins: 71,
(A) When accounting ends

(B) When auditing ends

(C) When book-keeping ends

(D) None of these

Investigation is get done by: 2.
(A) Proprietor of the firm

(B) Outside Parties

(C) Above (A) and (B) both

(D) Central Government

For negligence of auditor's liabilities 73.
is:

(A) Criminal liabilites

(B) Civil liabilities

(C) Other liabilities

(D) None of these

The appointment of auditor, in a 14.

Government company is made.
(A) By Board of Director

(B) By Shareholders

{(C) By Central Government
(D) By All the above

Under which section of companies 75.

Act, company auditor is appainted:
(A) Sec. 139
(B) Sec. 143
(C) Sec. 145
(D) Sec. 252

US-15192/p [17]

FIHU TR S &
(A) 3@ drarsd AT @i @

£B) @ B0 TAIE Sl &

(C) aagmqmq'miﬁ?ﬂé
(D) 3% & P T
FFEUE ST AR R, G

(A) aaara & Tids aRl

(B) @ 9&ERY gRT
,(gﬁm(mam(a)z‘ﬁm

(RS WRSR GRI

ARAY & foe, Iibae &1 afaa dar
&
(A) IORTY e

(D) ¥ A B &

UE TN T H, 3iped & Fghs
B @ & '
(A) TS AUSA G

(B) siwenRai gr1

(C) $=T TWHR NI

(D) IR Tl & ERI

H st & 59 ar)T § srta

WO ApnIsnsod - mmam//:sdny

TR 3ipers @ Frgite A i @
(A) ©RT-139
(B) €R1-143
(C) eIRI-145
(D) ©RI-252
P.T.0.
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80.
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Interim audit means that audit
which is conducted between the
two following audits:

(A) Intermnal audit

(B) Continuous audit

(C) Annual audit

(D) Management audit
"Depreciation is-the gradual and
permanent decrease in the value of
assets from any cause”.

This definition is given by:

(A) R.G. Williams

(B) Spicer and Peglar

(C) J.R. Batliboi

(D) Carter

. If the price of a machine is Rs.

55000, installation charges Rs.
2500 and scrap value Rs. 5000 and
expected working life is 10 years,
then amount of annual depreciation
will be:
(A) Rs.
(B) Rs.
(C) Rs. 6250

(D) Rs. 6750

It is a general rule that no com-
pany can pay:

(A) Dividend on equity shares
(B) Dividend on preference shares
(C) Interest on capital

(D) Interest on debentures

A receipt is 2 capital receipt be-

5250
5750

cause:
(A) It
(B) Itis
(C) Amount is large

(D) Itis received incurrent year

is credited to capital A/C
related to fixed assets

[18]

78.

79.

a}ﬁmﬁﬁgaa’tﬁ&ﬁﬁﬁwfﬁﬁﬂw

4D) B |

% o T T 4 55,000 B, TRATH
ST 2500 € TAT INGRIT T 5000
%md“é?mn3EFMﬁaEmﬂ€mﬁ:ﬁmq10
¥ & o weie & affs T &
(A) 5250 ¥9Q

(B) 5750 ®qd

(C) 6250 ®qg

(D) 6750 TG

I% vF G Fraw & B o o e
WA 6l B Todl &

‘(A) T 3N W AT

(B) yaiftreR 3wl w emwiw

(C) Gl R &=

(D) =T R =S

oS yiitd Sota it &, aiifes -

(A) % Gt = % s o o &
(B) gam&tmﬁnﬁ%mﬁaﬂﬁﬁ

(C) g% ey =)y &
(D) a® un a¥ ¥ oy ey 2
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Who is authorised to appoint the
auditor an casual vacancy:

(A) Shareholders

(B) Company Law Board

(C) Board of Directors

(D) Central Government

How many types of audit report are
there:

(A) S

(B) 3

(C) 4

(D)-2

Under which section of company
Act-2013, and auditor should sub-
}nit his report:

(A) Sec. 140

(B) Sec. 141

(C) Sec. 142

(D) Sec. 145

A clean audit report is one in which
auditor:

(A)
(BY
(C)
(D)

Describe some errors
Describe only frauds
Describe errors and frauds
Does not describe any errors,
frauds and irregularties

An audit report bearing qualifications
is known as:

(A) Qualified report

(B) Unqualified report

(C) Clean report

(D) None of these

Us-15192/p

~81. WHfers s @@ R 3idars o FgRe

[19]

83.

84.

85.

% foe B aftpa &
(A) 3T

(B) & fEawor
4C) Tawos HUsH

(D) HEra TWHR

. 3ipeT fide= feew R &1 B &

(A) 5
(B) 3
(C) 4
(D) 2
st wafam 2013 ¥ 5w o)1 &

ST U ai Y 310 Herde SR
&1 Ben 2

(A) €©IRI-140

(B) URI-141

(C) @RT-142

(D) ©IRI-145

U W Taded 38 8, e sivers

JoohE BT &

(A) TB FTfea &

(B) &ac & B

(C) 3rgfedt o e &

(D) fosdi argfe, et aen A
N Ieog QT BT &

aRRarest Tfga sisemr sfades & s

S 21

(A) R sfedes

(B) smRanfed wfedes

(C) e wfades

(D) FW A ¢ T

P.1.0.
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o
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O

90.
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86. v T sivers, vd ang # fea

A company auditor at a time can
not be the auditor of more than how
may companies:

(A) 10

(B) 20

(C) 30

(D) 40

In a Public Ltd. Co., Auditor sub-
mitted his report to:

(A) Central Government

(B) Company Law Board

(C) Shareholders

(D) Board of Directors

. Alteration of figures after audit is

the limitation of which audit?
(A) Final audit

(B) Periodical audit

(C) Internal audit

(D) Continuous audit

~ An auditor can be held liable under

the Chartered Accountants Act for:
(A) Professional misconduct

(B) Breach of contract

(C) Negligence

(D) Criminal offence

Within how many days dividend

must be paid after its declaration:

(A) 15
(B) 30
(C) 40
(D) 42

us-15192/P

(20}

87.

88.

89.

90.

Fafrdl § s @ sibe®, T8
Tl &

(A) 10

(B) 20

(C) 30

(D) 40 |
o Wi TSRS S H 3PS B
e R & Bl &

(A) BRI TWHR B

(B) v aiferaRor B

(C) 3erenial &

(D) FEwH AUSH B

3RPET $ I, NS W R P
e, foer sitberor B A &

(A) HFaw 3rpemr

(B) WMfRad 3ideior

(C) 3Ra 3iberor

(D) I 3iBesor |
S THFRCH TaT P i, U JibeTd
B IORETAT SERTT S Fehell &

(A) T3 & R S fore

(B) e s & forw

(C) wIRaTE & forw

(D) wRe & fore

eI 3 1T g diwon a9y fifs @
ﬁmﬁﬁqiﬁm,aﬂhaﬁﬁ

(A) 15 .

(B) 30

(C) 40

(D) 42
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93.
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Profit prior to Incorporatinn s
treated as:

(A) Interim profit

(B) Revenue profit

(C) Capital profit

(D) None of these

Capital profit can be utilised in:

(A) Issue of bonus shares

(B) Dividend distribution

(C) Writing of capital losses

(D) Both the above (A) and (C)
If a share of Rs. 10, on which an
amount of Rs. 6 has been paid is
forfeited. If can be reissued at mini-
mum price of:

(A) Rs. 10

(B) Rs. 6

(C) Rs. 4

(D) None of these

Given:

Total Assets = Rs. 8,00, 000
Current liabilities = Rs. 2,00,000
No. of shares = 40,000
Face value of shares = Rs. 10
Then value of per share will be
(A) Rs. 10
(B) Rs. 15
(C) Rs. 20
(D) None of these
"The auditor is a watch dog not a
blood hound.”

This statement was given by:

(A) Justice Wills

(B) Justice Findley

(C) Justice L.). Lopes

(D)

Justice Smith

US-15192/pP

91.

2.

93.

G4,

~95.

[21]

qIREE A o & @™ B A A &
(A) =R &y

(B) 3o aTw
(C) gl e
(D) 379 ¥ &1
qStma ey &1 3gam fear s g &
(A) 999 F9 & i o

(B) ey faawor A

(C) gomm afal 3 smfelaa &= 1
D) 96 (A) d (C) &

TS ¥ et ged 10 w9 # o w6
A A B A war 2 g1 e
T 2 3R TR e de | g
it @ =1 s3@ar &

(A) 10 =og

(B) 3 ¥0%

(C) 4 &2

(D) & 7 313

e man

ool THRTdl = 8.00.000 HO

are] afReE = 2,00,000 F

¥ B TZT = 40,200

3 T AHHd qed = 10 T

ar gt 39 geg A

(A) 10 T9q

(B) 15 w9

(C) 20 ®uQ

(D) 3 I B &

"HBEE 0P QAT BA el ol & =
& PR

T8 U fhaa an

(A) =ararener faew

(B) =graryr fe=a

A4C) TN T 7.

(D) =ormeer &
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96. Incorrect valuation of stock affects:

96. TH @1 Tieid Gedi FHifad ar 3

(A) Statement of Affairs (A) Fefer-foavor

(B) Profit and Loss A/C (B) GIEEIERCIGl

(C) Balance sheet (C) nfdfs fugr

(D) Above (B) and (C) both (D) 3R (B) td (C) A

97. In which case decision is that physi-

cal verification of stock is the liabil-
ity of auditor:

97~ 54 faare & Fofa & a8 @& T 2 1
a1 RIS AR SR 3

FeRafd &
(A) Mackson and Robbins - - (A) e Eos Rife
(B) Kingston cotton mills L 4B) forea die Fes
(C) Union Bank Ltd. Allahabad (C) gFa d for. gemeTsre
(D) None of these - (D) W W P

98. If average capital of business is Rs.
5,00,000, average annual income

98. ot @ e TE0 5,00,000 w7

wod Apnsnsod - mmam//:sdyy

3iaa a1 31 80,000 TIA T =7
Rs. 80,000 and normal rate of re- .
. T R 10% g
turn is 10%. ' ar & ARy 0 & 2
Then amount of goodwill by s , =
capitatisation method will be: T A
(A) Rs. 8,00,000 (A) 800,000 T
(B) Rs. 3,00,000 (B) 3,00,000 ¥4
(C) Rs. 50,000 _ (C) 50,000 &Y
(D) Rs. 30,000 (D) 30,000 I
99. Profits prior to incorporation can not 99. WHMTH ud & Fnet &7 i 78 s
be use for: _ 31 TFa &
(A) Writing off capital losses (A) od et & sfifag & &
(B) Writting off goodwill (B)Y =T @ smfefag o 3
(C) Distribution of dividend (C) cmwrer faeor
(D) Creation of capital Reserve (D) TSt Waw & fymfor

100.Which of the following is not eligible
to become an auditor of a com-

100.8 T H 31560 7 3 e, Byerfefad

§ A B g 78 2.

pany: (A) w P

(A) A body corporate 5 R

(B) An officer of the company (B) ¥ aﬁmﬂ-&

(C) A director of the company (C) T &1 Fae

DY 3B https//www.ccsustudy.com
(D) All the above ©) i “'I;atsapp @ 9300930012
22] Send vour old paper & get 10/-
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1, Informationisusedin :
(A) Offices
(B) Entertainment
(C) Education
(D) Ali of the above
2. CADstandsfor:
(A) ‘Computer Aided Designing
(B) . Computer Art Designing
(C) Computer Aided 'Devélopmeht
(D) Computer Aided Dictionary
3. Which of 'the following is a type of
Communication? -
- (A) _Télepﬁoﬁ_é -
(B) Radio
(C) Wireless, |
(D) All of the above
4. Which of the féllowing_i_sfa wireless
equipment? 3 | |
(A) Bluetooth -
(B) Satellite Television
(C) Mobile phones
(D) All of theabove

5. Thethree parts in Analytical Engine-

stores, mill and control unit are col-
lectively known as ...... in current
technology :l

(A) Arithmetic Logic Unit

(B) Memory

(C) Control Pracessing Unit

(D) Input Device

US-15194\p

3]

’ -

T BT S fear s &
(A) @rafear %

(B) R H

(C) - fonem &

(D) 37w Wit 3

.. st B g A &
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(B) B 3 featmi

| (C) TR we daawe
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The Physical Components of which
a computer is made up of is known
as :

(A) Hardware

(B) Filmware

(C) Humanware

(D) Software

....... is known as father of Com-
puter-

(A) C.V. Raman

(B) Herman Hollenth

(C) Charles Babbage

(D) John Von Neumann

The invention of transistors was in
.... generation of computers.

(A) First

(B) Second

(C) Third

(D) Fourth

The circuit consisting of translators,
resistors and capacitors built on a
single chip of silicon is known as -
(A) ALU

(B) ICU

(C) Integrated Circuit

(D) MOS

Blaise Pascal developed a mechani-
cal calculating machine in the year...
A.D.

(A) 1510

(B) 1642

(C) 1800
(D) 1915

UsS-15194\P

6.

10.

ve FER & Wifod T & F S
3

(A) BEIR

(B) fremdR

(C) FHRR

(D) WRAWR

(D) uqd

Faferat= A 7 e ferw o o 1R
o 7 SR B, T 7T -
(A) ETa g

(B) 3 Ay

(C) s<nis wfde

(D) v9 3
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Tabulating Machine Company was

founded by ...in 1896 :

(A) Herman Hollerith

(B) Blaze Pascal

(C) Charles Babbage

(D) K.K.Devitt

Full name of DEC is :

(A) Direct English Channel

(B) Digital Equipment Corporation

(C) Digital Equipment Computer

(D) Digital Electronic Computer

The name of IBM is :

(A) Information Business Machine

(B) International Babbage's Ma-
chine

(C) International Business Machine

(D) Intro-Binary Machine

Herman Hollerith used .... for tabu-

lating and calculating data that was

collected during 1890 census of
u.S.

(A) Punch Card

(B) Floppy Disk

(C) Hard Disk

(D) Abacus

Binary numbers require-states or
digits-

(A) One

(B) Two

(C) Eight

(D) Ten

US-15194\P

11.

12.

13.

14.

15.

1896 ¥ g FYNT T B A
....... 3 fan)

(A) & IRy

(B) &1 I™®mA

(C) ared dast
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(C) Rfoee vagwiec &wgex

(D) 3I-aBA HIAH
1890 # IR ¥ g SR & fow .

AHS B TELACT e O &$ e,

https://www.ccsustudy.com

WO ApnIsnsod - mmam//:sdny



WO ApnIsnsod mmam//:sdny

https://www.ccsustudy.com

16. The first Mini Computer was devel-
oped in 1965 by-
(A) IBM
(B) Intel
(C) Microsoft
(D) DEC
17. The period between .... is known as
first generation-
(A) 1929-1954
(B) 1939-1954
(C) 1942-1955
(D) 1959-1969

-
o

The period of third generation of
computeris :

(A) 1942-1955

(B) 1955-1964

(C) 1964-1974

(D) 1970-1980

Transistor were used in the .... gen-
eration of computer -

(A) First
(B) Second
(C) Third
(D) Fourth
20. Vacuum Tubes were used in the ...

et
0

generation computer :
(A) First

(8) Second

(C) Third

(D) Fourth

US-15194\P

(6l

16.

17.

18.

19.

20.

(A) 3§ &ew
(B) R+
(C) WP
(D) &

(A) 1929-1954
(B) 1939-1954
(CYy 1942-1955
(D) 1959-1969

(A) 1942-1955
(B) 1955-1964
(C)- 1964-1974
(D) 1970-1980
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COBOL and FORTRAN came in use
inthe ...... generation :

(A) First

(B) Second

(C) Third

(D) Fourth

Artificial Intelligence is a major fea-
ture of ..... generation of computer-

- (A) First

(B) Second

“(C) Third

(D) Fourth

The slide rule was invented by :
(A) Blaise Pascal

(B) John Napier

(C) Charles Babbage

(D) H:Hollerith

The major difference between the
approach to the fifth generation
from the earlier fourth generation
isin:

(A) The Basic logical structure
(B) Design of CPU

(C) Design.of . memory

(D) All(A), (B) and (C)
Computers can be used :

(A)
(B)

To get result quickly

To get the result of calculation
errorless

To perform long and repititive
task quickly

All of the above

(©)

(D)

US-15194\P

1

21.

22.

23.

24.

25.
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27.
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29.

30.
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26. wipan -

Processing IS :

(A) Arithmetic Processing
(B) Logical Processing
(C) Both (A) and (B)

(D) None of (A) and (B)
Smallest unit of Computer
memory-

(A) A Byte

(B) AKilo Byte

(C) A Giga Byte

(D) ABit

. The document transmission and

message exchanging electronically

known as :

(A) Data Base Management Sys-
tem

(B) Spread Sheets

(C) Desk Top Publishing

(D) E-mail

Computer can do :

(A) Store data

(B) Processing

(C) Outputing

(D) All of these

Data Processing includes :

(A) Collection

(B) Processing

(C) Storage

(D) All of these

US-15194\P
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31. Computer do not have :
(A) Intelligence
(B) Memory
(C) Hardware
(D) Control

32. Computers should be used when-

(A) Delays are to be minimized

(B) Accuracy is to be improved

(C) Voluminous data is to be stored

(D) All of the above

W
W

and Division :
(A) Addition
(B) Subtraction
(C) Multiplication

(D) Addition, Subtraction, Multipli-

cation

w
N

. The full form of EDP system is :
(A) Electric Data Production
(B) Electronic Data Processing
(C) Electronic Data Production
(D) Electronic Data Preparation

35. One micro second = ......

(A) 107°seconds

(B) 1075 seconds

(C) 107° seconds

(D) 10710 seconds

US-15194\P

. Arithmetic Processing involves ....

31. PR TE @ &
(v g
(8) wfer
(C) e
(0) Fra=om
32. @WgeR &1 A aa fan s arfee -
(A) & B THaH A &
(B) Weaal @ faofad &1 &
(C) 984 9RT et Bt §IE &A1 &

(D) 35w Wl
33, ... a1 M iSO Sfesar § nfie

_(D)—=irsn, e, o

34, § 8 & Rven & Q@ W -
(A) Feifage SicT Msae
(B) getagias Sier st
(C) it Ster Areae
(D) et gfer fover

{A) 107 JFvs
(B) 1075 J¥vs
(C) 107° JFvs
(D) 107'° JFpug
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Computers cannot be used in .....

fields :

(A) Health

(B) Education

(C) Meteorology and Weather Fore-

casting

(D) None of the above

Manual Systems are more

(A) Flexible

(8) Mechanical

(C) Electronic

(0)
.. is the life line of any banking

Complex

system :

(A) Calculation

(B) Data Collection
(C) Cheque Collection
(D) Communication

. Railway reservation system is an

example of :

(A) Batch processing

(B) On-line system

(C) Interactive system

(D) All of the above

The..... computers have features of
both Digital and Analogue comput-
ers-

(A) Celeron

(B) Hybrid

(C) Pentium

(D) Cyrix

US-15194\P
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41. A group of 8 bits to represents a

42.

43.

E.S
NS

45.
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character is known as :

(A) BIT

(B) BIT Group

(C) Byte

(D). Mega Byte

A number system with base 8 using
Oto 7 is known as :

(A) BCD

(B) Binary

(C) Octal

(D) Hexadecimal

A number system with base 16 us-
ing O to 9 numbers and characters
A, B, C, D, E and F for numbers 10,
11, 12, 13, 14 and 15 is known as
(A) BCD

(B) Binary

" (C) Hexadecimal

(D) OCTAL

. Aformal set of rules governing data

format, timing, sequencing, access
control and error control requires
to initiate and maintain communi-
cation is known as

(A) Data Rule

(B) Topology

(C) Firewall

(D) Protocol

Binary (111111)2 is equivalent to
.+« IN decimal number system-

(A) 55

(B) 56

(C) 75

(D) 95

US-15194\P
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46. Octal No. (152), is equivalent to
... in decimal number system-
(A) 106
(B) 112
(C) 152
(D) 216
47. 'D' in hexadecimal number system
is equivalentto ..... in decimal num-
ber system :
(A) 4
(B) 12
(C) 13
(D) 16
48. One GBis equivalent to ......
(A) 1024 Bit
(B) 1024 Byte
(C) 1024 Kilobyte
(D) 1024 Mega Byte

49. One of the oldest calculating device

was :

(A) ABACUS

(B) Arithnometer

(C) Ready Recknor
(D) None of these

50. Which of the following is single user
computer with many features and

good processing power?
(A) Work Station

(B) Mini Computer
(C) Micro Computer
(D) None of these

Us-15194\P
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51, Micro-computers could be made
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W
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because of invention of :

(A) Integrated circuit

(B) Transistor

(C) Protocols

(D) None of these

A system of concurrently process-
ing programs submitted by differ-
ence users is called :

(A) Multi-programming

(B) Multi-processing

(C) Multi-tasking

(D). None of the above

. Which of the following are manda-
-tory parts of a complete PC system?

(A)  Hardware and Software
(B) Input and Output

'(C) Keyboard and Printer

(D) All of the above

........ is temporary and ..... is per-
manent :

(A) Storage, Memory

(B) Memory, Storage

(C) Disk, Storage

(D) None of the above

Maximum storage space is available
on:

(A) CDs

(B) Floppies

(C) ROM

(D) Hard disks

US-15194\P
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56. CPU contains :
(A) Logical Unit
(B) Arithmetic Unit
(C) Control Unit
(D) All of these
57. Acomputerisa...... device.
(A) Calculating
(B) Electrical
(C) Electronic
(D) All of these

wn
(e s]

. Which of the following is not an in-
put device-
(A) Joystic
(B) Scanner
(C) VDU

(D) All are input device

59. Which of the following is only an out-

put giving device?
(A) Printer
(B) Scanner
(C) CD
(D) Allof these
60. Floppy disk are :
(A) Random access memories
(B) Storage device
(C) Used for transferring data
(D) All of the above

US-15194\P
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61. Multi-processing is same as
(A) Muiti-programming
(B) Multi-tasking
(C) Multi-user

(D) Multi-resource

62. Acamarais an-

(A) Processing Machine
- {B) Inputdevice

(C) Output device

(D) Can be either input or output
63. Speed of clock of CPU is measured
o in:

(A) MIPS

(B) Megahertz

(C) Instruction/second

(D) All of these
64. Which of the following is not a mi-

croprocessor chip?

(A) 8085

(B) 8086

(C) 8087

(D) None of these

65. Pentium has .... as microprocessor

(A) 1C8085

(B) 1C 80486

(C) IC 80386
(D) None of these

US-15194\P
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Which of the following is not the

standard size of floppy disk-
1 1t

(A) 32

1t
() 57

(C) 8"

(D) Noneofthese

Which of the following memories
cann't be erased?

(A) RAM

(B) DRAM

(C) EPROM

(D) ROM

A computer using transistor circuits
belonged to .... generation

(A) 2"

(B) 3™

(C) 4™

(D) gth

Which is not the same as VDU?
(A) Monitor

(B) Touch Screen

(C) TV Screen

(D) All are same

.... is most common input system-
(A) Keyboard

(B) Diskette

(C) Scanner

(D) Printer

US-15194\P
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The most powerful type of com-
puter amongst the following is :
(A) Micro computer

(B) Super computer

(C) Super micro

(D) Megaframe

Which of the following works as in-
put-as well as output device?

(A) VDU

(B) Laser Printer

(C) Scanner

(D) Floppy

Whi_c:h of the following storage de-
vice is handy?

(A) Diskette

(B) Hard disk

(C) System Cabinet

(D) Main Memory

Which of the following means com-
munication between systems?
(A) Power Supply

(B) Connectivity

(C) Computer literacy

(D) Applications software

Which of the following can be used
for Scientiﬂc and commercial pur-
posé?'

(A) BASIC

(B) ADA

(C) C

(D) COBOL

US-15194\P
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The size of a partition table on hard
disk is :

(A) 16 Bytes

(B) 32 Bytes

(C) 64 Bytes

(D) 64 Bits

Which of the following operating
systems are supported on IBM
compatible microcomputer :

(A) MS-DOS

(B) Xenix

{C} Unix

(D) All of above

Who was the originator of MS-
DOS?

(A) GaryKildall

(B) Ken Thomson

(C) Tim Patterson

(D) Dennis Ritchie

. MS-DOSisa :

Single-user operating system
Multi-user operating system
Multi-tasking operating sys-

(A)

(B)

(C)
tem

(D) None of the above

Which of them is not a computer

peripheral?

(A) Electronic Pen

(B) Plotter

(C) In-built watch

(D) All are peripherals

US-15194\P
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Which of the memory is fastest?
(A) Auxiliary

(B) Buffer

(C) Hard disk

(D) Optical Drive

One KB is equivalent to
(A) 1024 BITS

(B) 1000 BITS

(C) 1024 BYTES

(D) 1000 BYTES
Computer processes..... informa-
tion https://www.ccsustudy.com
(A) Digital

(B) Analog

(C) Both (A) and (B)

(D) None of the above

Which of the following is not a fea-
ture of PC?

(A) Accuracy

(B) Speed

(C) Actual Intelligence

(D) High Storage

Which of the following is not a Pe-
ripheral?

(A) Cable

(B) Data

(C) VDU

(D) Cache

US-15194\P
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36 U3 WG & v WY U o W) FeRs

A network transmission technology
where information is relayed to all
its clients at the same time is called-
(A) Broadcasting

(B) Multicasting

(C) Newsnet group

(D) Al of these

An example of intermet working is :
(A) WAN

(8) MAN

(C) INTERNET

(D) All of the above

. Which of the following can not be a

wireless network?

(A) WAN

(B) LAN

(C) MAN

(D) None of the above

. Which of the following methods is

not used by KERBAOS to establish
a secure connection between the
client and the target server?

(A) Password

(B) OCR

(C) Secret Key

(D) None of the above

Firewall acts as :

(A) ROUTER

(B) BROWSER

(C) MODEM

(D) " None of the above
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Method of transferring data from

one PC to another is called

(A) INTRANET

(B) INTERNET

(C) DATA Communication

(D) Broadcasting

Modems that contain programs to

dial and establish connections are

called :

(A) Dial-up Modem

(B) Intelligent Modem

(C) Direct Connection Modem

(D) Indirect Connection Modem

...... Covers entire City by Internet.

(B) LAN

(C) WAN

(D) All of the above

The component of Management In-

formation System (MIS) that as-

sists in planning and decision mak-

ing in a organisation is/are

(A) Software

(B) Hardware

(C) Database

(D) All of the above

Internet was started as ......

(A) TCP/IP experiment

(B) Network for the defence force
of America

(C) Group of research scientists of
Bell Lab.

(D) Contribution was done by all
the above institutions
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Which of the following reduces the
processing time? |

(A) Parallel Computing

(B) Using more cache

(C) Multi-processing

(D) All of the above

A modem that cann't be moved
from its position is called .....t
(A) Direct Connect

(B) Fixed Modem -:

(C) Intelligent Modem

(D) Acoustic Coupler
Ethernet is an example‘of
(A) WAN

(B) LAN_

(C) MAN

(D) Internet work

Speed of Ethernet IS vues
(A)
(B)
(C)
(D)

10 kbps
10 mbps

100 kbps
100 mbps

A computer that requests to an-

other PC for information is called.....
(A) Host

(B) Server

(C) Master

(D) Client

US-15194\P
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“Money is anything which is commonly

used and generally accepted as a

medium of exchange or as standard of

value.” Who said ?

(A) Keynes

(B) Crowther

(C) Kent

(D) Seligman

Paper money posseses the following

qualities :

(A) Stability in value and general
acceptability |

(B) General
portability

(C) Portability and stability in value

(D) All ofthe above

acceptability ~ and

Which among the follcl)wing. IS not the
contingent functioh of money ? |
(A) Maximization of utility:
(B) Distribution of national income
(C) Medium of exchange |
(D) Transfer of value
Which of ‘the following is/are non-
currency form of money ?
(A) Cheques
(B) Credit cards
(C) Debitcards
(D) All ofthe above

1.

(3)

https://www.ccsustudy.com

“ge1 g At 98 a%] E o RfE B
e A T F A F T F RO
ST Bt S B dur A ' § @
TEoT BT A W B 1 R

A) #4g

(B) I

(C) @ve

O @R
ﬁgﬂﬁﬁlﬁﬁw&ﬁ?ﬁﬁ

(A) @ ¥ wnie R gdummr
®) ﬂéﬂ@maﬂwmw
©) ﬂﬁﬂﬂﬁ?ﬂ@ﬁ@ﬁlﬁ

©) IR

Rt & & B T T TR
wEr |

(A) AP IR

®) TH E H {Ew

) R @ qom

D) EEART T

M= & § A g1 AR w0 §
¥7?

(A) I

®) @i F

©) 3iae #E

O) INF T
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Gresham Law is applicable to :
(A) Public expenditure

(B) Banks

(C) Finance

(D) Money

“Money is what money does.” This
definition of money is given by :

(A) Hartle Withers

(B) Keynes

(C) Selignan

(D) Knapp

Money that a government has required

to be accepted in settlement of debts is :
(A) Commodity money

(B) Bartermoney

_ (C) Legaltender

(D) Currency money

What is ‘stagflation’ ?

(A) Inflation with growth
(B) Inflation with depression
(C) Deflation with growth
(D) Inflation after deflation
US-15193 (P)

(4)

5.

6.

7.

o % Fraw oY B @
(Aj e A8 ©
® W W

) AW

O WX

“oET 9 & W P W B B W
# g8 TR § ¥

A) e fRgd *
® 49 A
(C) aferdw 2
©®) WA

FoN B FIE § @ & A
WA g ¥
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9.

10.

—
—r

12,
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Money as a basis of price mechanism is

most effective in ;

(A) Mixed economy
(B) Planned economy

(C) Capitalist economy
(D) Socialist economy
Which equation is given by Fisher to

explain quantity theory of money ?

(A) MV=PT

(B) M=PVT

(C) V=PT

"(ID)'PV=MT

- Treasury bills raised by Government are

!

example of :

(A) Short-térm debt
(B) Long-terrri debt
(C) Medium-term debt
(D) None of the above
SEBI was established in :
(A) 1993

(B) 1988

(C) 1992

(D) 1990

US-15193 (P)

9.

10.

11.

12.

(35)

T B T OISR Sy g ®
(A) R srfaaen &

®) Frifm e #

(C) ToiErl sreieae &

(D) qrferp Sredegaer #

RB9TT &1 g1 giREreT Ry aawen
FA & U -0 gl 5@n ®
™ ?

(A) MV=PT,

(B) M=PVT

(C) V=PT

(D) PV=MT

FER B0 R R A R

(A) STTHIAT FOT H
/B) HERE T B
(C) TEHHER T B
O) IR ¥ § Fg 7
A H T g R ?
(A) 1993

(B) 1988

C) 1992 /

(D) 1990
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13. The unorganized market consists of

which of the following ?
(A) Corporate enterprise
(B) Individual investors
(C) Commercial banks

(D) Indigenous bankers

14. Financeisrelatedto:

15.

16.

US-15193 (P)

(A) Money

(B) Credit

S

(C) Monetary resources
(D) None of the above
Those financial firms which sell primary

securities and purchase secondary

securities are called :

(A) Banking financial intermediaries
(B) Non-banking intermediaries
(C) Non-depository institutions

(D) None of the above

In which market old shares are

purchased and sold and it is called as :
(A) Primary market

(B) Secondary market

(C) Capital market

(D) Money market

13.

14.

15.

16.

(6)

T § B-wr e R A i
M ?

D) I F § i @

o Rt o @ e SRR @

o0 & 3R R vl @ @ E,
e ¥

(A) st g qery

®) -3 e

©) -t e

®) IR ¥ A A &

Rra IoR & W Siges & @l w
I A 8, W FEQ E

(A) It TER

® f&is aer

(© ot TR

©) T TR
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17. Financial intermediaries do the following 17, Rrdyr weaeq yraftes aferfedt & <f=

with primary securities :

(A) FJITE
(A) Sell
B) Purchase ®) @ied &
(C) Sell and purchase (©) ¥ o Wil #
(D) None of the above O) SWF & § Big el
18. To fulfil the requirements of S.L.R. of  18. aPwd ¥t F I75 S.L.R. %l YIS
commercial banks, the helping market is F QB § Tedd 99K B Fed
known as : g
(A) Discount market (A) T IO
(B) Bill market (B) Rd T°R
(C) Short notice credit market (C) I Il W@ FEI
(D) None of the above O) IR ¥ | Pg @
19. InlIndiapaperless trading startedby: ~ 19. WRaEd ¥ Yaw of$7 ¢& & -
(A) I;I.S.D.L. (A) N.SD.L. & U |
(B) CDS.L. (B) C.D.SL. H T §
(C) Both(A)and(B) ©) (A) @ B) I
(D) U.TL ©) U.TL & =N 4§
20. The biggest commercial bank in Indiais: ~ 20. WG ¥ Y& g1 AN 5 ¢
(A) R.B.L (A) WRAE R 6
(B8) S.B.l (B) TG VT I%
(C) L.D.B.L © "I dafe ew T
(D) EXIM Bank D) R 55
US-135193 (P) (7)
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21. Which bank in India became the first  21. R-a1 W &% R yor & o
bank to open its branch in China ? ¥ U graEr @R !
(A) H.D.F.C.Bank (A) HDFC. ¥%
(B) 1D.B.L Bank (B) LDBI %
(C) State Bank of India (C) WG ®T %
(D) Punjab National Bank D) UE AT
22. Nationalization of 14 Commercial 22. 14 HNRS FH F TSEHT FNT o:
Banksheld on: @) 19 W» 1969
(A) July 19, 1969
(B) August 19, 1969 ®) 15 5, 1969
(C) July 15,1969 (Cy 15 G, 1969
(D) August 15, 1969 ©) 15 37T, 1969
23. ‘Pure banking, nothing else’ sloganis  23. ‘@R 7, I #® 9 W 1 T«
raised by : e & & T ?
(A) LC.IC.L Bank (A) LCLCL ¥%
(B) H.D.F.C.Bank (B) HDEC. %
(C) U.T.I Bank (C) UTL %
(D) S.B.IL Bank @) S.BL &%
24. Abank should make a balance between: 24, T % HIAT TG ¢ :
(A) Safety and profitability (A) U@ UG aveREa
(B) Profitability and liquidity (B) TR T TXwar B
(C) Safety and liquidity (C) QT W& aXeiar &
(D) None of the above O IR F § B 75
US-15193 (P) (8)
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25.

26.

- 27.

US-15193 (P)
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Regional Rural Banks were set up on 25,

the recommendation of :
(A) Fazel Ali Committee
(B) Puri Committee

(C) Narsimhan Committee

(D) Helton-Young Commission

Which among the following is knownas  26.

‘Small Man’s Bank” ?

(A) Rural Banks

(B) Coopérative Banks

(C) Land Development Banks

(D) S.B.L

The credit creation power of bank  27.

depends upon :

1.  Available cash with banks

2. Demand for credit by public

3.  Liquidity reserve ratio

4. Policy ofIRDA

5. Foreign exchange rate.

Select the answer for code given below:
(A) 2,3,4

B) 3,4,5

) 1,2,3

(D) 2,4,5

(9)

e el ¥ @ g P A
a&gf o g 4t

(A) B/ ST FAA

® g w4

(C) T HAA

(D) FIRA-AT FHIA

Frr & & R5g 3% @ ‘B ot &
d% FRT A 3 ?

(A) aAer g%

a9 B G T e R 9w R
B & ?

1. S & 9 I T

2. War # a3 fag |

3. %

4. IRDA & g

5. fd<h fafm &0

T g2 & A 98 SR # 999 Hif:
(A) 2,3,4

®) 3,4,5

©) 1,2,3

) 2,4,5

https://www.ccsustudy.com
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28. The Industiral Finance Corporationof 28, ST Shvefvs Rt Frme T & e

India (1.F.C.1.) takes loan from : ?:
(A) RBIL (A) R Rod ¥ |
(B) Central Government @) INT @ A
(C) LDBLL © v et e 35 |
(D) All of the above ©) S ¥ &
29. Who is not the member of National 29. @9 FH ¥ TS Rewa g &
Development Council ? e TE R 7
(A) Govemor of the State (A) T I TSI
(B) Chief Minister of the State ®) TH 3 JEral
(C) Administrators of Union territory (C) §Y U8 & NIHE
(D) All ministers of Union Cabinet (D) §9 §ug 3 @it =0
30. EXIM Bank established on : 30. ofe™ S B @ @ O
(A) 1stJuly, 1982 (A) 1 s, 1982
(B) lstJanuary, 1982 (B) 1 F=aq, 1982
(C) 1stApril, 1985 (©) 1 o, 1985
(D) None of the above O) I F | B T
31. Which one of the following is not the 31, Fr=iffae & & #F-W T AWRS
function of Commercial Bank ? ww A e?
(A) Issueoftravellers cheque (A) TR A% A FE
(B) Creation of credit ®) wE F i
(C) Issue of notes ©) e g9 I
(D) None of the above O) I ¥ ¥ P 9§
US-15193 (P) (10)
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32.

33.

34.

35.

US-15193 (P)
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Cheques facilities in which account is

not provided by the bank ?
(A) Current Account

(B) Fixed Deposit Account
(C) SavingAccount

(D) None of the above

When was Reserve Bank of India

established ?
(A) 1935
B) 1938
(C) 1940
(D) 1947

Which bank was nationalized to create

State Bank of India ?

(A) Indian Bank

(B) Bank of Baroda

(C) Imperial Bank

(D) None of the above

Which of the following is not apex
Banking institution ?

(A) Reserve Bank

(B) NABARD

(C) Export-Import Bank

(D) State Bank

2. Brg R % ¥ A 3% & g @

33.

34,

35.

(11)

JEH B AR ¢ 7

(A) =Y @

(B) €& 1 el

(C) Tad @

D) I & q B 6

TR e 3% 3w $6 / R?

(A) 1935
(B) 1938

(C) 1940

D) 1947

B ¥F T TSI F@ TG
we §% @ fmr B mr ?

&) T B

®) ¥ 3G B

©) FIRET 9

O I T § B T
Prefefaa & § P9-1@ i e gen
W R?

A) o &=

®) e

) Fa-amae =

D) W

https://www.ccsustudy.com
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3. %% @0 Re TR A9 FT H TH

36. The main source of getting finance by

Wwod Apnisnsod mmam//:sdyy

quT B

Banks is :
(A) Share capital (A) i Sl
(B) Loan ®) =
(C) Deposit amount (C) &+
(D) All ofthe above @) SR Fl
37. Redeemable bill items are : 57. e @ =B
(A) Assets (&) SRRl #
(B) Liabilities ®) [t #N
(C) Both(A)and (B) ©) (A) T (B) 3
(D) None of the above (D) IRTd T § FiF T
38. On what point power of credit creation ~ 38. %I #I @r@-FHT I fHE oW W
dependson? https:/www.ccsustudy.com [T FRat & ?
(A) Credit deposits (A) TG
(B) Cash deposits (B) THE T
(C) Overdraft facilities (C) ey gl
(D) All of the above (D) IqATT A
39. Credit creation is done by : 39. A e far s &
(A) Commercial Banks &) afRes $&5t z
(B) State Bank of India (B) WG VT §% 2

US-15193 (P)

(C) Reserve Bank of India

(D) Cooperative Credit Societies

(12)

(€) i o 5 7
D) weHd wrE shfRE g
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40. Which was the first development bank

41.

42.

43.

US-15193 (P)
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of our country ?
(A) LF.C.L
(8) 1DB.L
(C) HBL
(D) LRB.L

N. B. F. C. stands for : 41.

(A) National Banking Finance
Companies

(B) Non-Banking Finance Companies

<©

(D) National

Non-Banking Finance Corporation
Banking Finance

Corporation

Which bank was Central Bank of our  42.

country before R.B.I. ?

(A) S.B.L

(B) Bank of India

(C) Imperial Bank

(D) General Bank of India

Rate at which R. B. L. gives short-term  43.
loan to commercial banks is called :

(A) Reserve repo rate

(B) Reporate

(C) Bankrate

(D) Cash reserve rate

(13)

40,

g 2w ygw R db HA-ar
o

(A) OTTS.T%.T.97%.

@) s r.d.and.

(©) w89,

D) . A H.ITE.

.4.0%.H. B Fad 2 -

(A) ATHa JIRBT WA HEAT
B) AE-IFT FEAH FEAS

(C) FF-ITHT BT BITARYH
(D) 9+ BT BEA BRI
AW {od 9% § 98d A8 39 &
PEIT b PE-Gr 49T ?

(A) R 9% oifp 3Pz

@B) % e e

() zHiftad 9

©O) IFE &% G ey

AR .38, BT IS S Y SR
R SN OX STEIfes T & & @
el 1T §

A) R @ E
B Wk
©) & E
D) v =d T
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4. g X @ R ol ode-ard
B B, afe ..o, F el ad

44. Generally the financial year for banks is

April —March but what is financial year

WO ApnIsnsod mmam//:sdny

forR.B.1.? T ?7
(A) January - December (A) THI-RER
(B) April - March @) D=
(C) October - September (©) W—W
(D) July-June D) J-
45. Who is entitled to change cashreserve 45, WRAWE ¥ ¥ N T §od I F
ratio of the banks in India ? qftads @1 g% & ?
(A) R.B.L (A) IR.HN.3E.
(B) Ministry of Finance ®) fa d=eg

(C) Board of Directors

(C) T HYSH

(D) Planning Commission (D) AT AERT
46. Who is the new Governorof R. B.1.?  46. JR.N.9TE. 3 7 T B € ?
(A) Arvind Mayaram (A) IRfA= arERm
(B) Montek Singh Ahluwalia ®B) #iew Riz gt
(C) Raghuram Rajan (C) TG I
(D) None of the above ©) IQWF F D 48
47. Atpresent the bank rate is : 47. A X FF R
(A) 6.25% (A) 6.25%
(B) 6% (B) 6%
(C) 4% (C) 4%
(D) 5.25% D) 5.25%

US-15193 (P)

(14)
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48. Who appoints the directors of the

49.

50.

US-15193 (P)

Board in Reserve Bank of India ?

(A) Government of India

(B) President of India

(C) Governorof R. B. L

(D) Minister of State

When R. B. 1. was nationalized ?
(A) Japuary 1, 1949

() July1,1955

(C) July 19, 1969

(D) April 15,1980

The R. B. I. was established with fully

paid up share capital of ............

(A) ¥ 5,000 crore

(B) ¥ 500 crore

(C) ¥ SOcrore

(D) ¥ 5crore

(15)

48. R Red 3% $ 92 $ duwd

gy &= sear B ?

(A) ARA THR

B) wd & T

C) IR, & TR

D) T & H3ff

LR, H TSR FA G ?
(A) 1 FFaL, 1949

®) | Ja’, 1955

(C) 19 I, 1969

D) 15 o7, 1980

(A) T 5,000 TS
®) T 5,00 HS
©) T 50 S

O T 5 WS
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S1.

52.

53.

54.

US-15193 (P)
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Which of the following is asubsidiaryof ~ S1.

R.B.1.?
(A)
5))
©)

SIDBI
NABARD
National Housing Bank

(D) All of the above

R. B. L. generally revised monetary  52.

policy forevery :
(A) 3 months
(B)
(©)

D)

6 months
9 months

12 months

‘Smart Money’ isatermused in : 53.

(A) Intemet banking
(B) Credit card
(C) Debit card

(D) Cash with bank

Bank cheque is an example of : 54.

(A) Token money

(B) Optional money
(C) Fiatmoney
(D) Currency

(16)

Prey & @ B-a ST .7, 3 HEIH
27

© SRR '

g, &, ond. wraa: Aigw Afq
qRafda FE 8, TS ¢

A) 3 " 3

@) 6 WE 3 i

©) 9 e 3 fw

O 12 5 3 M

‘T T a= & wA e G
e 27

(A) TR qF6T

®B) T I

€) ;M =

D) % 3% 3 Y

q% A% TH I

(A) AFT P W

(B) % g1 #

© R e

® T H
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55. Which organization makes ‘Doing

56.

W
N

38.

US-15193 (P)
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Business Report’ every year ?

(A) LM.F.

(B)y W.T.O.

(C) UNCTAD

(D) World Bank

The revenue of custom duty goes to
(A) Only State Government

(B) Only Central Government

(C) R.B.L

(D) Both (A)and (B)
‘World,Economic Outlook Report’ is
puE l:lSh&d by :

(A) LM.F

(B) World Bank.

(C) R.B.L

(D) UNCTAD

“World Investment Report’ is published
by :

(A) World Bank

(B) ILM.F

(C) UNCTAD

(D) World Trade Organization

35.

56.

57.

58.

(17)

Pt & § fA-q1 9ee ‘Fadd B
Raré’ s af s 2 7

(A) 0905

B) s=q. &. .

(C) FHerE

©) fw ¥

HEH g SR TIT STl &
(A) 3F9 TH TR &}

(B) ¥ B= G BRI

(©) ARALIE.

D) () @@ @B) ¥

e aitls T amERer RaE &
yepida far e B, &mv o

(A)  T.TH.T5.

® & 9%

(©) FRA.AE.

D) HFAS

‘fawr RfFErT RO & yala e
ST ®, 3

A foE 3%

B) STE.TH.T6.

(C) 3IH=

O) Y AR qr+
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59. Which economist has related the roleof ~ 59.

60.

61.

62.

US-15193 (P)

money with liquid assets ?
(A) Pigou

(B) Keynes

(C) Kandler

(D) Robertson

The money in which all transactions take 60.

place is called :

(A) Primary money

(B) Token:money

(C) Paper money

(D) Commodity money

The book ‘Purchasing Power of Money’  61.

was written by :
(A) Pigou
(B) Marshall
(C) Fisher
(D) Robertson

Which of the following is not the  62.

characteristic of the money ?

(A) Thereal value of money is zero
(B) Money is an unit of value

(C) Money is the reserve of the value

(D) Money is acceptable by all
(18)
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64.

65.

66.
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In casc of reflation the consumption :
(A) Increases

(B) Decreases

(C) Remains static

(D) All of the above possible
Inflation has increased in a particular

area 5%. It means :

(A) The national income has increased
by 5%

(B) The
decreased by 5%

purchasing power has

(C) Wages have increased by 5%
(D) Prices

decreases by 5%

of consumers goods

In inflationary conditions :

(A) The cash reserve ratio should be
decreased

(B) The cash reserve ratio should be
increased

(C)" The cash reserve ratio should be
maintained as it static

(D) All of the above incorrect

Rate ofincrease in money supply is high

in India because of :

(A) Highrate of interest
(B) Highdeficit

(C) Highsaving rate
(D) None of the above

65.

66.

(19)
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67. Which of the following is not the source

68.

69.

70.

US-15193 (P)

for short-term finance ?
(A) Personal loans
(B) Indigenous bankers
<)
(D) Equity share capital
Which of the following is not the source

Bank loan

of the medium term finance ?

(A) Loan from special financial
institutions

(B) Loan from investment companies

(C) Advance from customers

(D) Public deposits

Main functions of financial management

arc:

(A) Financial planning

(B) Procurements of funds

(C) Allocation of net profit

(D) All of the above

The medium term finance can be met out

by the company :

(A) From bank loans

(B) From creditors

(C) From redeemable debentures

(D) From public deposits

67.

68.

69.

70.

(20)
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72,
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Listing is not required for :
(A) Shares

(B) Debentures

(C) Deferred shares

(D) Government securities

Which of the following is not a basic

purpose of stock exchange ?
(A) Todeal in securities

(B) Tomobilize capital

| (C) To accelerate the rate of economic

development

(D) Toeam profit out of fluctuations in

the prices of securities

Commercial Banks influence money

| supply through :

(A) Creation of demand deposits

(B) Printing of one rupee notes

(C) Augmentation of savings and time

deposit

(D) Provision of high denomination

notes

71.

72.

73.

(21)
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75.

76.

77.
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Total number of banks nationalized in

India so far is :
(A) 14
(B) 19
() 23
(D) 27

The term ‘Bank’ was derived from the
Italian word :

(A) BANCK

(B) BANCO

(C) BANKE

(D) None of the above

‘Rebate’ on bills discounted is :
(A) Anitem of income

(B) Alability

(C) Income received in advance
(D) Income outstanding

Section 13 of Banking Regulation Act
restricts the payment of expenses on
issue of shares to ......... of the paid up

value of such shares.
(A) 10%

B) 2.5%

(C) 5%

D) 11%

74.

75.

76.

77.

(22)
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79.

80.
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Gold will be shown under the heading

.erewrnns I the balance sheet of Bank.

(A) Investment

(B) Fixed assets

(C) Reserveand surplus

(D) Current assets

Intangible assets are :

(A) Preliminary expenses

(B) Patents, copyright, goodwill

(C) Losses which cannot be reduced

from share capital
(D) All ofthe above

The expenses incurred by the enterprise
the benefit of which will be derived in

years to come are called :
(A) Fixed assets

(B) Currentassets

(C) Fictitious assets

(D) None of the above

(23)
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Rationing of credit takes place when
(A) Demand for credit is zero
(B) Demand for credit is low
(C) Demand for credit is high
(D) None of the above
The first mutual fund was started by :
(4) UTL
(B) L.IC.
(C) GILC.
(D) SB.L
The management of the Industrial
Finance Corporation of India is carried

on by a Board of Directors containing a

full time ......... and ........... directors.
(A) Manager, 10

(B) Chairman, 12

(C) Directors, 14

(D) Secretary, 12

[.C.L.C.1. provides financial assistance to :
(A) Small scale industries

(B) Medium scale industries

(C) Large scale industries

(D) All ofthe above

81.

82.

83.

84.

(24)
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85, ' Which bank was first authorized to issye

the notes ?

(A) State Bank of Indiz
(B) Reserve Bank of India
(C) Bank of Bengal

(D) None of the above

86. For Central Government increase in 86,

credit of Reserve Bank of India. is

known as:
(A) Primary deficit
(B) Monetary deficit
(C) Budgetary deficit
(D) Revenuedeficit
87. Who have the monopoly to issue the  87.
paper money ?
(A) Commercial Banks
(B) Central Banks

(C) Finance Commission

(D) All of the above

25)
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Who signs one rupee note in India ?

(A) Finance Secretary

(B) Finance Minister

(C) GovernorofR.B. L.

(D) Secretary of the R. B. L.

Who controls coinage ? 89.

(A) R.B.L

B) S.B.L

(C) Central Government

(D) State Government

The collecting bank has not given the 90,

protectionon :

(A) Demand draft
(B) Cross cheque
(C) Bearercheque

(D) Non-crossed cheque
(26)
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Transfer of interest in the property as a

security for payment of loans, is known

as :

(A) Mortgage
(B) Pledge
(C) Bailment

(D) None of the above
Primary function of money are :
(A) Medium of exchange

(B) Measure of value

(C) Both(A)and (B)

(D) None ofthe above

What name is given to the currency in

physical circulation ?
(A) Paper money

(B) Real money

(C) Accounting money
(D) Bank money

Who popularized the quantity theory of

money ?

(A) Keynes

(B) J.S.Mill.
(C) Fisher

(D) David Hume

91.

92.

93.

94
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Who originated the principle of

maximum social advantage ?
(A) Ricardo

(B) Dalton

(C) Masgrey

(D) Hicks

How much time period have medium  96.

term loans ?

(A) 2to 3 years
(B) 3toS5 years
(C) 5to 10 years

(D) 10to 15 years

Which is the biggest stock exchangein ~ 97.

Asia?

(A) Hong Kong Stock Exchange
(B) Calcutta Stock Exchange
(C) Bombay Stock Exchange

(D) Tokyo Stock Exchange
(28)
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98. Theterm ‘Bank’ was first used in which 93, ‘¥ = P ¥AT 599 IR e dw F
country ?

Fer T a7
(A) Italy A) =
(B) America (B) SRR
(C) England (C) s
(D) Japan D) A

99. The largest nationalized bank of India  99. AT ¥ THQ =TT UKF 4 HiA-4l

is: 2?
(A) Central Bank of India (A) qugd J& G P
(B) Bank of India ® ¥ i 3
(C) State Bank of India (C) Ve I3 g =z
(D) Reserve Bank of India ©) Red 3% o 3Psa
100. Monetary Policy is formulated by : 100. B MMy & Fmtor frw o

(A) R.B.L https:/www.ccsustudy.com (A) ﬁ:ﬂﬂ‘ a'c]; g
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(C) Stock Exchange ©) @& faaf =
(D) Finance Ministry. O R W= Eoa
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